CIVACON =

PART OF OPW AJDOVEN) commary

Leading The Way in Tank Truck Equipment Innovation Worldwide

VC3022 3” Aluminum Swing Check Valve

3
| o jumms]
: 7
@\ 9 ]
(15— -
@5.63 TYP 10
= 11
2
L 50 = L 4 - .50
1
s ! 6.05 6.88
S %
?5.000 B.C.
4.75

ITEM PART NUMBER DESCRIPTION Qry. ITEM PART NUMBER DESCRIPTION QTy.

1 3-CV-A-BODY ALUMINUM BODY 2 12 S$3-32X3-4-RP ROLL PIN 1

2 3-CV-A-LID ALUMINUM LID 1 13 S$5-16-18-SH-NUT 5/16 CASTLE NUT 1

3 3-CV-A-GASKET LID GASKET 1 14 3-CV-PLATE-S-A POPPET GASKET 1

4 12419 1/4-20 x 7/8” SS SCREW 8 15 3-CV-WASH-S SS WASHER 1

5 H20312M 1/4” WASHER 8 16 3-CV-PIN-L .245 x 1.195 SS PIN LEFT 1

6 H50086M 1/4” 18-8 SS LOCK WASH 8 17 3-CV-PIN-R .245 x 1.195 SS PIN RIGHT 1

7 3-CV-ARM-S-A POPPET ARM 1 18 3-CV-SPG-L 17-7 SPRING LEFT 1

8 S5-16-18X1.5H 5/16 x 1-1/2 SS HEX BOLT 1 19 3-CV-SPG-R 17-7 SPRING RIGHT 1

9 S5-16FLATWASH 5/16 SS FLAT WASHER 1 20 3-CV-BUSHING TEFLON BUSHING 2

10 3-CV-POP-SPR BELLEVILLE WASHER 1 REPAIR KITS

11 SS-5/16-18-JAM- STAINLESS SPACER 1 VC-312S REPAIR KIT, SILICONE POPPET

CIVACON % www civacon.com @ 4304 Mattox Road # Kansas City, M0 64150 & Phone: +1(816) 741-6600  Fax: +1(816) 741-1061

PART OF OPW Aﬂ-f

NOTE: All information subject to engineering and/or other changes. All trade names are copyrighted. Patents Pending. ©2014 Civacon.
©2014 Delaware Capital Formation, Inc. All Rights Reserved. DOVER and the DOVER logo are registered trademarks of Delaware Capital Formation, Inc., a wholly-owned
subsidiary of Dover Corporation.

RP 01-13A

Rev. +, January 2013



